EANRAROESIERT —

ZN—XBISH—F

202058RA5H (k) 9mEIF5I2H

m JAUBEWZIIIXOENER C2 ¥R —f% ‘ [X%&] ™ ‘ (] — | & (B) 12000 BE
[AE4£] 17 :450,000 ™  23%&:90,000 M  33%&:68,000H . 437&:4500H . 57#&:22,000H
BB BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
ST AR A 13, - 3| - WARE (i)
1KY 3 TIVTxRLT "3 1(1_3)7 " %9 ? 5_022) o
LTZART—IWoF— B:TILTULTELT (1T )"
s N ZHTHEA 14, = . = EAREHE (deimE)
» o| TXY—rO—7 i 4 Zn 1(144)6 5-3 38.6 1 (4_9; Iﬁgiﬁjﬁ mE
RTHIHELTR BTY—RF BE B
S 5 > 4 | HERE 1:14.7 8-5 38.2| — 4 482 | AFNEA (AtimE)
sl T7RX&2—3I%—+ 70| Asalo (3/4) (-10) | PR
I ZART—oF— B:Y—IVE-Ny Y EESae]
REBRSE : - - 2lIgE (dtsE)
N NMEEEYErE P i 6 e 1.(135).3 7-7 38.8 9 <4+584) o jﬁ(%g%x_
R:FHh¥~7x1x2 B:OCTETNIT pailzcbae]
= N alllE :15. — . - KNG (AtimE)
sl7lglosvusr—n 6 an 1(*7155)3 9-8 38.2 8 (4_922) gt BE
LiTHAFUSv—Ib B:U59LTYHFARZR 75 BEHS
YN # 4 | BEXK 1:15.6 42 |39.6| — | 3 | 442 |EFESE (timd)
6111 VAN AVAY sl 54.0 (11/2) +12) 21| EXE =
L:A—KApF+a7 B:54 -0 BRT7—L
N 4 4 £+ELXM 1:15.7 5-3 39.7| — 5 460 |NNBHAN (AtimE)
718110 a7%14ILE— 54.0 (6 o resas B
R —FHIIHL BiI—LRINCH HEZEAS
N EBEZ : - — NEFE (LiEE)
8lsl5|7VLs/iiya 4 4 A 1.(1:5).5 3-6 40.5 7 (4320) /‘ﬁ\”a%m B
RNV —Ib BEIYTAT9 7 I8 4%
= 4t 3 | BIEBEE 1:17.4 10-10 39.5| — 10 476 | 1EFERER (dtimE)
9l7l7|77>%— 56.0 ) o |fEEE -
R:74HO B:UU—<L—> Y e LS
S [ S > i 4 | NEAS 1:21.3 2-8 456 | — 6 464 | ZWFRI (timE)
EH 2 E—E—75147 ¥53.0 (%21 4) ) (B) WEKS
LTANVNTTFY— BE-E-5F> RS
® I—F—&BIERL
13—=7-—
2a=5"=
Ja=9= 3,2,5,1,(9,10),4,6,8,7
43—F+— |3,1,(9,10),6,5,4,(2,8),7
[ /N
B 3 300M 714K 3-9 200M e E 3-8 310 JEE 3-6-9 720M
B B 3 120M 3-6 400M B = 3-9 360M 3EE 3-9-6 3,420
9 1004 6-9 290M B H 3-9 730M
6 140/
ABRICOVWTRLTERERROONDE, THEBLE W,




